2 HETYHE HREERAE
O BRNEESGOSE

E AN BAfT ZFRI ‘Fi% I 2H & H
8 : 00~ 12 : 00~ 17 : 00~ 8 : 00~ 8 : 00~
12 : 00 17 : 00 22 :00 17 : 00 22 : 00
(A=) AT 620 [ 620 [ 620 M 1,230 1,850 4
N —R—)L .
) 10 310 M 310 M 310 M 620 M 930 M

Ny RAR—V
NIV Ry

11 100 100 4 100 M 210 M 310 Y
B —F /L —
MEREERE] i) 410 M 410 M 410 M 820 M 1,230 1

e 210 210 210 4 410 M 620 [
(=== HTAVE OB L. ERoBHeOfE L T 5 CHRMERT 5568 2R <, ),

FEENOGAE, 1IN0 310 AT 2, 1 RAERRIE, 1R & A0,

Q) ESNEESLOSE

X535 \IRFH] AR iz & TH] 4= H feH
8:00~12: 00 |12 : 00~17 : 00[17 : 00~22 : 00| 8 : 00~17 : 00| 8 : 00~22 : 00
TN W14k WP | ETAL | BTN | ETSN | ETPN | ETAL | HTPN | ETAE
77U K| gk | 1,030 M| R | 1,030 M) #EEL | 1,030 [ #EEL | 2,060 [ £EEL 3,090
BPERE R | 1,540 M| #BEF | 1,540 ek | 3,090 M
fiis  [ESMEHOEAIE. 1SV 1,230 FEIES 5,
1 RFfERT X, 1 B & A7 T,
(B T=RAa— DA
HTPNA NI IR FFIRE 1 REEQ ) BIMERH DTS
F AR 1 WA )
HTPN R 410
HIpaN 360 [ 410
(=3 IR L, A1 8 REN D44 10 FFE T L 55,
1 R, 1 W & g




